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SHOW EVIDENCE OF YOUR THOUGHT PROCESS. YOUR SHOWN PROCESS SHOULD “SPEAK” TO ME, ©

Determine if the sequence is arithmetic. If it is, find the common difference and next term.
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Given the explicit formula for an arithmetic sequence, find the term named in the problem.
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Given the 1t term & common dlfference of an arithmetic sequence, find the 1°' 5 terms & exphut
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Given the arithmetic sequence, find the 30™ term.
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Find the missing terms in the sequence.
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Given two terms in an arithmetic sequence, find the term named in the problem.
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17. 26 =492 and a4 = 1292
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Evaluate each arithmetic serles described
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Find the term named in the problem.
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Evaluate each arithmetic seriés described.
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Determine the number of terms n in each arithmetic series
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